- =m hanHa TayH

YRR S SIS I S SIS S S S S
oer A i,
b | N BR/E=NE: @ i
710 ! : ) R |
A ' N
S |
B © — | o
1210 — ~ I B }I: |
baepob | -3 CanByson|| —— ‘
270 \\—: 4’1 :i o ‘
1 — S CnanbH4A
+ . \,/ —=| 12 11,1
. i I 1% S
A = I —
3630 16
a < !
o 3690 »
Kopugo 10 < 0 g W 1
- %
Korpgen T IL | 216w
Q— 1 4 )<* =
\éqy 1 1 O O o | | ' ' H |
________ /S T
A y S s T Homep HaiiMeHVBaHHS Mnowa
Y | [PV RIS NPUMILLIEHHS y M2
A | 1 Kopuaop 4,2
KyxHs-BiTanbHA s _ | g gﬁ“;;;;a”b“ﬂ 1610
OO 16,0 L L)) y ,
0 o | 4 CnanbHsa 11,1
Q O S I | 5.1 Fapaepo6 2,0
1 e | 5.2 Nopaxis (3ackneHa) 4,2
3 = Hog @ = 3aranbHa nnowa 41,6 m?
- 3 z XutnoBa nnouwa 11,1
I '
5110 i _ |
Jlogxis |
4.2 |
X Ly 1500 |
* > |
Y —— n oo BRI
‘ / A A A A A A A / / -
o '




